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1) Temperature can have a marked effect on the dicde voltage V; as follows:
Variable a b c
Ya Decreases by Decreases by decreases Increases by
increases in in temperature decreases in
temperature temperature
1) + a
2) - b
3) - c
2) Temperature can have a marked effect on the diode reverse saturation current Ins as
follows:
Variable a ] I
Ips Doubled with Doubled with 1°¢ Doubled with
10°C decreases in increases in 10°C increases in
temperature temperature temperature
1) - a
2) - b
3) + ¢
3) A silicon diode with V3=10.7 V (at 25°C). The V4 at (35°C ) will be equal to:
&
Variable a b c
Ya 0.6V 0.65V 0.58V
1) - a
2) - b
3) S C
4) A germanium diode with Ijs=10 pA (at 25°C ). The Lisat 73°C will be equal to:
Variable a b c
Lis. 320 pA 32 pA 640 pA
1) + a
2) - b
3) - c

5)
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For the diode circuit bellow, determine the valueds of Vo and Voo

Si
+12V E R w Va
Ge
Vo
Variable a b c
Vou 127V 113V 127V
Yoz 2.4V 0.3V 1.7V
1) - a
2) 4 b
3) - ¢
6) For the diode circuit bellow, the value of the output voltage (v,) will be equal to:
Variahle a b c
Vo 821V 70V 6.4V
1) - a
2) 4 b
3) - ¢
7) For the diode circuit bellow, the value of (V) and (Ip.,) Will be equal to:
Variable a b €
Voaax 83V 11.3v 12V
Ipaiax 2.19 mA 1.92 mA I mA
1) - a
2) -
3) S C

8)
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For the full-wave bridge rectifier circuit bellow:

Vi(t)

Vilp)= 120V Ideal Diodes

i T
v vi
Variable a b c
Ve (p) 30V(p) 40V(p) 60 Vip)
Vo (DC) 19.08 V(DC) 2544 V(DO 38.16 V(DO)
1) - a
2)  + b
3) - ¢
9) For the Zener Diode bellow, the values of Iz and Iy are as follows:
Rs=1k
Vo
_ - Iz I, +
]5 + 4 l
E=10V—/— -
T Vi GD § Ri=25k
V=51V~
Variable a b c
Iz 2.86 mA 2.04 mA .34 mA
I 2.04 mA 2.86 mA 2.98 mA
1) + a
2) - b
3) - ¢
10) For the clamper circuit bellow:
vi
p Vi(D . :( .
10V C =0.InF 5
G
o T t ; g Vo
T2 -
| f= 1 kHz e
-l0v
Y
Variable a b c
Capacitor Charge V¢ -113V 123V 113V
Output voltage V, +213V -11.3V -213V
1) - a
2) -
3) S C

11)
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For a BJT inverter bellow with I = 10 mA when saturated (ON) and

Ve = 5V when cut-off (OFF). Assume Vi = 6V and p = 80.

Variable a b c
Re 500 kQ 500 Q 5.5 kQ
1) - a
2) |+ b
3) - ¢
12) For a BJT inverter bellow with I = 10mA when saturated (ON) and

Vee = 5V when cut-off (OFF). Assume Viy = 6V and f = 80.

Variable a b

Rs sam) 12.4k0 24.3K0 48.6 kO

Re anxy 21.2kQ 48.6 kQ 24.3kQ
1) + a
2) - b
3) - ¢

13) The Light Emitting Diode (LED) is fabricated using:
Variable a b c
LED Silicon and Germanium Semiconductors Materials such as
Semiconductors different from Silicon Arsenic, Antimony,
and Germanium Phosphorus
1) - a
2)  + b
3) - ¢
14) The BJT Transistor is:
Variahle a b C
BIT A voltage — controlled A current — controlled | A current -controlled
current source voltage source current source

1) - a
2) - b
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3) + ¢
15) The BJT Transistor is:
Variable a b c
BIT Bipolar device Unipolar device Semi - polar device
1) + a
) - b
3) - ¢
16) The output characteristics of BJT is:
Variable a b c
Output The relation between The relation between The relation between
Characteristics output voltage and output voltage and input voltage and
output current for output current for output current for
different values of input | different values of input | different values of input
current voltage current
1) + a
2) - b
3) - c
17) The basic relationships between o and f are introduced as:
Variable a b c
fod +1
o Bt a=bB_ a2t
B B-1 B+l
- o o
g p=r= B p-
ot I+ l-e
1) - a
2) - b
3) + ¢
1 8) An ppn BJT with o = 0.995 and a base current of Ig=25 pA and Veg=4V
Then, the values of Rg and R are equals to:
m.
Ry
+15V
+15V
Variahle a b C
Re 600 kQ 572 kQ 580 kQ
Re Ll k2 221 kQ 34kQ
1) - a
2) 4
3) - ¢
19)
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For the BJT hellow:
Variable a b c
Avne -157.7 ~170.5 ~178.4
Apa 50 9 150
1) + a
2) - b
3) - ¢
20) For the BJT bellow:
Vo +20V
Variahle a b c
VeE(ER) 193V 1333V 0V
Ieysan 5.5mA 43 mA 6.67 mA
1) - a
2) - b
3) S C
2 1) For the BJT circuit bellow, the value of collector current (I¢ ) will equal to:
= +16V
V.= 120V
B3
B=1T5 e
R 10 uF
MWA—H
1.5k Cs
+
e 50 mi{pp) 3
Variable a b c
I 23mA 1.62 mA 3.6 mA
1) - a
2) |+ b
3) - ¢

22)
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For the BIT circuit bellow, the value of the hybrid parameter (h ie) and (hoe) will equal to:

V.= +16V
V.= 1207
B -
£= 175 b:
R 10 uF
Ah—H
1.5k Cz
* 50 mV(p-p) R
Variable a b €
his L8kQ 326 k0 270k0
hoe 13.5mS 10.4 mS 1358
1) - a
3) S C
23) The Field Effect Transistor (FET) is:
Variable a b c
FET A voltage - controlled | A current - controlled | A current - controlled
current source current source voltage source
1) - a
3) + c
24) The transfer characteristic of JFET is:
Variable a b c
Transfer The relation between The relation between | The relation between
characteristic output voltage and output voltage and output current and
input controlled input controlled input controlled
voltage current voltage
1) - a
3) + ¢
25) For the JFET, circuit bellow. What are the correct values of the variables in the table:

Ioss = 12[mA], Fenoss = -3[V]

Variable a b c
Ing 35mA 5.3mA 2.8 mA
Vps 84V 54V 36V
1) - a
2)  + b
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